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Find the valueof 3 -3 x3+3.

aluate 42 + 0.07.

O
A

2 (a) Simplify 2m— 4 30NEm
(b) Evaluate 32+ 23 x 20, v

Ansvl

3 (a) Itisgiventhat 10°=3 and 10" =9. What is the value 0

(b) A set has three elements. How many subsets does ithave?
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ane flew from town A(67°S, 40°E) to a town B(23°N, 40°E). Calculate the distance
in kilometres. (R = 6370km and & = %?-)

15

¥ ]

C : BIBWIEE s v i
An ulira modern stadium h 43 %& Express this number in standard form

correct to 2 significant figures.

7z
v

Answer:

Using the Venn diagram in the
by B’ N (AN C).

answer space, shade

Answer:

g2101,

esented
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Ive the simultaneous equations
x+4y =16,
Fyp=],

¢ ANSWEE: KT seoniennmGamaiigmnnmiig

‘ W s s
8 Bronze is made up of zinc, tin and co

pper iltheTatio 1: 4: 25 respectively. A bronze
statue contains 120g of tin. Find the required gudntities ‘the other metals.

L

K

Answer: zinc

..............

BHEREE = i
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e diagram below, MP = 13km, QR = 6km and MR = 24km. MR is parallel and
to TQ, PMR = QRM = 90° and TPQ = 75°,

2
|

A .
M R

Find

(a) PaTs =

(b) the length PQ.

#—172

Answer:

Mathematics/4024/1/2016
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. —> -3 ~—>
‘ leenthatAB=[ 4J,ﬁnd | AB].

1 -2 ~1
and C = , calculate AC.
-1 4 3

A o1 Syt A (R ————————— i

® 1 R 2]

12 (a) DEFG is a rectangular
value of cos EGF.

D 7.5m ‘
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e of land in which GE = 12.5m and DE = 7.5m. Find the

12.5m

G

(b) The cost of advertising in a local newspaper 10r one is K15.40 per word plus a
fixed charge of K41.25. What is the cost of advertiSing rds for one week?

Malhemalics/4024/1/2016
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The diagram below shows an isosceles triangle ABC where AB =BC = (x — 3)cm

Fay
d ABC = 90°.
B
@x—3)cem (x—3)cm
pd N

Find th%for which the area of triangle ABC is 18cm?.

14  The Pie chart below shows how me s of a club voted for the position of chairperson.

(a) What fraction of the members voted for Emelia?

for her?

2

(b) If 20 members voted for Inonge, how many did n

Answer:  (2) e s
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@mﬁm his defined as h(z) = 3":2 .
( ]

the value of x for which A(x) = 5,

A

c : Answer: (8)  siseses s [1]
D)  snevssmsrss: 1
)

/ O R 2]

16 Ttis giventhattL=d. m L}
—d

(a) Find the value of d when v= 10, = a=-4.

(b) Express ainterms of v, and d O

L ) (——— O . [2]
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The diagram below shows a target made of a square piece of wood, ABCD, of side
Ocm. M and N are midpoints of AB and CD respectively and O is the centre of the

50cm

simplest form, find thep ility that it will land in the shaded region.

Mathemalics/4024/1/2018
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a the diagram below, TR is diameter of the circle with centre O, and QR and PS are Use

Find

(@) 1
(b) PST,
© PSo.

Answer:

Mathematics/4024/1:2016
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(a) A map is drawn to a scale of 1 to 50 000. Calculate =
() the length of a road, in kilometres, which is Scm long on the map,
(ii) the actual area of a small town, in square kilometres, represented by an areaof
10cm? on the map.

(b) d an integer value of g such that 2¢-7<8<3g—11.
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The diagram below shows the positions of three towns Kime (K), Teswa (T) and Use
uwaya (L). Angle KTL = 110° and the bearing of L from T is 123°.
North
1/123°
L
(@ Findtheb
(@) TfromL,
(i) T from K. ‘
(b) At 07 30 hours, an old Minj s off from Luwaya to Teswa at an average
speed of 25km/h. Given e distance between Luwaya and Teswa is 40km, a

find the time at which the bus reacdhes Teswa.

/\

Answer:

Mathematics/4D24/1/2016
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The boundary for the shaded region R is formed by the lines y =2, L; and L, as shown in the
iagram below,

rite three inequalities which define the region R.

ADSWEL: v

.........................................
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A is a point (3, —4). Find the coordinates of the image of point A under
(i) areflection in the line y =x,

—4
a translation with vector T = L 2) .

) Tw nmlar solids have surface areas in the ratio 4:25. If the volume of the bigger
iddss62.5cm?, calculate the volume of the smaller solid.

Answer:
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The diagram below is a speed-time graph of a car which starts from rest and Yee
accelerates uniformly for 20 seconds till it reaches a speed of 30m/s. It then moves at a
constant speed for some time before it starts decelerating, It comes to rest after 100
ds.
ed 4 [Not drawn to scale]

| g
100
Time (¥) in seconds

1
i
1
!
1
1
1
!
!
1
I
1
i
4

\ 3

Given that the total distance tr is2 metres, calculate -
(a) the value of'¢, ‘
(b) the retardation in the last part o (4}

d

(¢) the speed of the car at the ninety ﬁﬁz :
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